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FOOD IDTDUSTRY U'ASTP MANAGEIIIENT
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FtrII Marks : lOO

Time : 'l'hree hours

The figures in tft'e mo.rgin indicate
full marks Jor the guestiotrs.

Ansuser ang fiue questions out oJ seuen.

l. (a) Define solid waste managemcnt'
Explain dificrent sources and tlpcs of
solid wastcs.

(b) Discuss the various stcps involved in
vermlcomPosting technique' 8

(c) Write the various advantages and dis-
advantages of vermicomPosting
technique,

2. b) Explain thc various typcs of aerobic
comPosung Process. 12

Contd.



J.

'@ Discuss about the advantagcs of
anacrobic trcatment of liquid waste ovcr
aerobic trcatmcnt mcthods.

Writc notcs on (ang four) of the following :

4xb

(a) Ilyrolysis

(b) Incincration
(c) IIOD

(d) uAsrl
(e) CoagulaUon

A lrlocculation.

4. (a) What is Rotating Biological Contactor
(RllC) ? Discuss thc Performancc
aspects of RBC. 15

(b) Discuss thc advantagcs and
disadvantages of IlJlC. 5

f)cscribc thc various steps and various
methods used in industry to prcpare
drinking watcr from waste-water. 20

(a) Estimatc thcorctically the volume of.
biogas that can be produced bY
anaerobic treatmcnt of IOOOkg of solid
waste by using the following data :

5.

t).
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I Chemical formula of BVS = C66I1e5Oa6lV

Organic matcrial (vs) in solid
waste = 75o/o

Moisture content = 2oolo

Biodcgradable volatilc solid (BVS) = 9570
(Dry basis)
Specific wt. of methane is O.7l l2kg/ ms
Specific wt. of CO2 ls l.96O7kg/m3

t4
(b) In a BOD detcrmination 6ml of wastc-

watcr is mixcd urith 294m1 of diluting
water containg 9.lmI/I of DO. After 5
days incubation at 20"C, thc DO
contcnt of the mixture is 2.8m9/ l.
Calculatc 1hc I3OD5 of the wastcwatcr
aurd ultimate BOD.

(o) Describc briefly the major stcps
involv.ed in activatcd sludgc process.
What is solid retention time (SI{I) ? Flow
can you definc mean cell residcncc time
(MCRT). T2

(b) Detcrminc thc l-day IIOD and ultimate
first stage llOD for a wastc-water,
whose S-day 2O"C LIOD is 30oml/1. Thc
reaction constant K {base e'l = O.23d-t -

What would have been the S-day BOD,
if the test had been conducted at25C.

8
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